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D-AD17 Practice Assessment
1. The position, in feet, of a particle moving along a straight path is given by the differentiable function
x(t) = sin 2t — cos 4t where t is measured in seconds. Find the acceleration of the particle at ¢=0.
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2. The position, in feet, of a particle moving along a straight path is given by the differentiable function
s(t) = —#3 + 54% — 7¥+ 3. Find all times ¢ where the particle is at rest. n e v fact y -~ o

— | —_—— bl
= \ —

. 3 L2 - 1 L
S = —X tSx ~Fxel " ) — (A
- f
\ € \
ds _ 3 , — F res
Te7 - 3% t/ex-F = o
a ¢ .
| // 2, 2 [ov ‘,'{ ) .S P // - I > 3 /. _\
( =X y . C d 2 (ec
{ k\« [ + = | >3 ’ P 1
‘/‘ . ) I e

{

3. A person is hiking in a national park and their velocity in meters per minute is graphed below.

~ When does the person change direction?
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20 P When is the person slowing down?
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Calculate the acceleration at t=20min.
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4. Find the slope of the tangent line at x = =1 wheny = xy + x“ +1
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5. Ifx2+xy+y3=0, then find ==

4 ~ N
e PR R R

: e /o - } ‘
D-CD7 / VR A |
6. Write the equation of the line tangent to y = (2x — 1)* where x=1 .
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7. Write the equation of a line with a slope of 6 that is tangent to y = x2 —4x + 3.
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